

CONDITIONS FOR THE INTEGRABILITY OF A SECOND ORDER NONLINEAR DIFFERENTIAL EQUATION

Vlajko Lj. Kocić

0. The object of this paper is investigation of integrability of differential equation of the form:

$$(0.1) \quad y'' + A(y, x)y' + B(y, x) = 0,$$

where A, B are given functions.

A number of authors (see [1] — [18]) considered some special cases of the above equation. Only in Kamke's collection [1], are noted 72 equations of the form (0.1). Also, Painlevé [2] considered some equations of the type (0.1).

Important special cases of (0.1), are the well known, generalized Emden's equations:

$$(0.2) \quad y'' + v(x)y' + w(x)y^n = 0, \quad (n \in \mathbb{R}, n \neq 0, 1)$$

$$(0.3) \quad y'' + v(x)y' + w(x)e^y = 0,$$

(v, w are given functions). Those equations are considered in papers [6] — [12]. For the above equations the following results are known (see, for example [7])

1° if

$$(0.4) \quad w(x) = \alpha \exp\left(-2 \int v(x) dx\right) \quad (\alpha = \text{const.})$$

then equation (0.2) and (0.3) are integrable by quadratures;

2° if

$$(0.5) \quad w(x) = \alpha \exp\left(-2 \int v(x) dx\right) \left(\int \exp\left(-\int v(x) dx\right) dx\right)^{-n-3},$$

$$(0.6) \quad w(x) = \alpha \exp\left(-2 \int v(x) dx\right) \exp\left(\int \exp\left(-\int v(x) dx\right) dx\right),$$

($\alpha = \text{const.}$) then equations (0.2) (0.3), respectively, are integrable by quadratures.

In papers [7], [13] — [16] authors solved some nonlinear differential equations which can be reduced to an autonomous form. They, in fact, considered differential equations $N(y(x), x) = 0$, which, after transformation $y = q(x)z(t)$, $dt = p(x)dx$, have the autonomous form $M(z(t)) = 0$.

In section 1 we ask the following question:

When does the equation (0.1) after the transformation $y = F(Y(X), X)$, $dX = a(X)dx$, reduce to the autonomous form.

Theorem 1 gives the complete answer to the above question. The general form of equations which have this property is given by theorem 2.

Our results are compared with some known in section 2.

The above results are applied to equations (0.2) and (0.3) in sections 3 and 4, respectively. Conditions (3.10) and (4.8), which ensure the integrability in quadratures of (0.2) and (0.3), respectively, are more general than those already known.

Equation

$$(0.7) \quad y'' + v(x)y + w(x)y^n = 0, \quad (n \in \mathbb{R})$$

is treated in section 5. This equation is considered in papers [17] and [18].

1. We consider the following problem:

Find the conditions under which the equation (0.1) reduces to an equation of the form

$$(1.1) \quad \frac{d^2 Y}{dX^2} = \varphi\left(\frac{dY}{dX}, Y\right),$$

by the transformation

$$(1.2) \quad y(x) = F(Y(X), X) \quad dx = \frac{dX}{a(X)},$$

($Y(X)$, X are new unknown function and new variable, respectively; F is twice continuously differentiable function and a is continuously differentiable function).

From (1.2) we find y' and y'' and after the substitution in (0.1), we obtain the equation

$$\begin{aligned} \frac{d^2 Y}{dX^2} + \frac{F_{YY}}{F_Y} \left(\frac{dY}{dX}\right)^2 + \left(2 \frac{F_{YX}}{F_Y} + \frac{a'}{a} + \frac{1}{a} A\left(F, \int \frac{dX}{a}\right)\right) \frac{dY}{dX} \\ + \frac{F_{XX}}{F_Y} + \frac{a' F_X}{a F_Y} + \frac{1}{a} A\left(F, \int \frac{dX}{a}\right) \frac{F_X}{F_Y} + \frac{1}{a^2} B\left(F, \int \frac{dX}{a}\right) = 0. \end{aligned}$$

The above equation has the form (1.1) if and only if there exist functions P , Q , R such that:

$$(1.3) \quad \begin{aligned} \frac{F_{YY}}{F_Y} = P(Y), \quad 2 \frac{F_{YX}}{F_Y} + \frac{a'}{a} + \frac{1}{a} A\left(F, \int \frac{dX}{a}\right) = Q(Y), \\ \frac{F_{XX}}{F_Y} + \frac{a' F_X}{a F_Y} + \frac{1}{a} A\left(F, \int \frac{dX}{a}\right) \frac{F_X}{F_Y} + \frac{1}{a^2} B\left(F, \int \frac{dX}{a}\right) = R(Y), \end{aligned}$$

and the same equation becomes:

$$(1.4) \quad \frac{d^2 Y}{dX^2} + P(Y) \left(\frac{dY}{dX} \right)^2 + Q(Y) \frac{dY}{dX} + R(Y) = 0.$$

Furthermore, from the first equality from (1.3) it follows that F has the form $F(Y, X) = b(X) \int \exp \left(\int P(Y) dY \right) dY + c(X)$ (b, c are twice continuously differentiable functions of X).

If we introduce the substitution $z(t) = \int \exp \left(\int P(Y) dY \right) dY$, $t = X$, where z and t are new unknown function and new variable, respectively, then equation (1.4) becomes

$$(1.5) \quad \frac{d^2 z}{dt^2} + f(z) \frac{dz}{dt} + g(z) = 0$$

where f and g are given by

$$(1.6) \quad \begin{aligned} f \left(\int \exp \left(\int P(Y) dY \right) dY \right) &= Q(Y), \\ g \left(\int \exp \left(\int P(Y) dY \right) dY \right) &= R(Y) \exp \left(- \int P(Y) dY \right). \end{aligned}$$

Then we have

$$(1.7) \quad y(x) = b(t) z(t) + c(t), \quad dt = a(t) dx.$$

In accordance with the above we can formulate the following result:

Theorem 1. *The equation (0.1), after the transformation (1.2) reduce to the autonomous form (1.1), if and only if after the linear transformation (1.7) it has the autonomous form (1.5).*

We see that our problem is reduced to determining equations which transform to autonomous form under the linear transformation (1.7).

Furthermore, we shall determine the form of functions A and B .

Putting $a(t) = p(x)$, $b(t) = q(x)$, $c(t) = r(x)$, we find that A, B have the form

$$(1.8) \quad \begin{aligned} A(y, x) &= pf \left(\frac{y-r}{q} \right) - 2 \frac{q'}{q} - \frac{p'}{p}, \\ B(y, x) &= p^2 qg \left(\frac{y-r}{q} \right) - \left(\frac{q''}{q} + \frac{q'}{q} A(y, x) \right) (y-r) - r'' - r'' A(y, x). \end{aligned}$$

Now, we can formulate the following theorem:

Theorem 2. *Equation (0.1) can be reduced to the autonomous from (1.1), under she transformation (1.2), if and only if functions A and B have the form (1.8). In this case after the substitution*

$$(1.9) \quad y(x) = q(x) z(t) + r(x), \quad dt = (p(x) dx,$$

(0.1) reduces to equation (1.5).

Furthermore, putting $\frac{dz}{dt} = u(z)$, equation (1.5) becomes:

$$(1.10) \quad u(z) \frac{du}{dz} + f(z)u(z) + g(z) = 0.$$

This means that equation (0.1), where A, B are given by (1.8), has the general solution:

$$(1.11) \quad \int \frac{d\left(\frac{y-r}{q}\right)}{U\left(\frac{y-r}{q}, C_1\right)} = \int p(x) dx + C_2,$$

where C_1, C_2 are arbitrary constants and $u = U(z, C_1)$ is the general solution of the first order equation (1.10).

2. In this section we shall compare our results to some known results. Also, we point out some particular cases.

1° Let $r(x) \equiv 0$. Then (1.8) becomes:

$$(2.1) \quad A(y, x) = pf\left(\frac{y}{q}\right) - 2 \frac{q'}{q} - \frac{p'}{p}, \quad B(y, x) = p^2 qg\left(\frac{y}{q}\right) - \left(\frac{q''}{q} + \frac{q'}{q} A(y, x)\right)y.$$

2° If $q(x) \equiv 1$, then (1.8) has the form:

$$(2.2) \quad A(y, x) = pf(y-r) - \frac{p'}{p}, \quad B(y, x) = p^2 g(y-r) - r'' - r' A(y, x).$$

3° Differential equation (0.1) is noted in [1] (eq. 6.44), and the following result is given:

If functions A and B satisfy the condition

$$(2.3) \quad B_y(y, x) - A_x(y, x) = V(x)A(y, x) - V(x)^2 - V'(x),$$

where V is some function of x , then equation (0.1) can be reduced to a first order equation.

It is easy to see that functions A and B given by (1.8) do not satisfy the condition (2.3), i.e. our result and the above cannot be compared to each other.

4° In [3] J. D. Kečkić considered the following equation:

$$(2.4) \quad y'' + v(x)y' + w(x)h(y) = 0$$

(v, w, h are given functions).

Putting $f \equiv 0$, $q \equiv 1$, $p = \exp\left(-\int v(x) dx\right)$, $h = g$, $A(y, x) = v(x)$, $B(y, x) = w(x)h(y)$, $w(x) = C \exp\left(-2\int v(x) dx\right)$, we see that, in this case, conditions (2.1) are satisfied and equation (2.4) is integrable.

The same result was obtained in [3] by applying a variant of the variation of parameters method. This method J. D. Kečkić applied in [4] to some more general second order equations.

5° D. S. Mitrinović and J. D. Kečkić [5] consider differential equations of the form

$$(2.5) \quad y'' + A(x)y' + B(y, x) = 0.$$

If we take $f \equiv 0$, $q = \exp\left(-\int \varphi dx\right)$, $p = \exp\left(\int (\varphi - \psi) dx\right)$, $g = h$, $A(y, x) = A(x)$, $B(y, x) = \exp\left(\int (\varphi - 2\psi) dx\right)h\left(y \exp\left(\int \varphi dx\right)\right)$, where functions φ and ψ satisfy

$$\varphi(x) + \psi(x) = A(x), \quad \varphi'(x) + \varphi(x)\psi(x) = 0,$$

then conditions (2.1) are fulfilled and we have that (2.5) is integrable by quadratures.

The same result was obtained in paper [5].

6. Equation (0.1) contains in special cases, 72 equations from Kamke's collection [1]. Those are equations (6.1) — (6.44), (6.73) — (6.78), (6.82) — (6.84), (6.91), (6.92), (6.94) — (6.97), (6.100) — (6.102), (6.104) — (6.106), (6.108), (6.188), (6.205), (6.209), (6.211), (6.219) — (6.220). Many of these equations can be solved by applying the above method.

3. Now we consider the generalized Emden's equation (0.2).

In papers [6] — [12] were given a number of conditions which ensure the integrability of (0.2). In [7] L. M. Berkovič showed that all these conditions are equivalent to (0.4) or (0.5). In this section we give a condition which contains (0.4) and (0.5) as particular cases.

From theorem 2 it follows that, after the transformation (1.9), with $r(x) \equiv 0$, equation (0.2) has the form (1.5) if and only if:

$$(3.1) \quad v(x) = pf\left(\frac{y}{q}\right) - 2\frac{q'}{q} - \frac{p'}{p}, \quad w(x)y^n = p^2 gq\left(\frac{y}{q}\right) - \left(\frac{q''}{q} + \frac{q'}{q}v(x)\right)y.$$

Then we have $f(z) = \text{const.}$, and taking $f(z) \equiv 0$, we find

$$pq^2 = K \exp\left(-\int v(x) dx\right) \quad (K = \text{const.} \neq 0).$$

Furthermore, second condition from (3.1) implies

$$(3.2) \quad g(z) = \alpha z^n + \beta z \quad (\alpha, \beta = \text{const.}, \alpha \neq 0),$$

and we have $w(x)y^n = \alpha p^2 q^{1-n} y^n + \left(\beta p^2 - \frac{q''}{q} - \frac{q'}{q}v(x)\right)y$, i.e.

$$w(x) = \alpha p^2 q^{1-n} = \alpha K^2 \exp\left(-2\int v(x) dx\right) q^{-3-n}, \quad \beta p^2 - \frac{q''}{q} - \frac{q'}{q}v(x) = 0.$$

Accordingly, we obtain that q satisfy the following equation

$$(3.3) \quad q'' + v(x)q' = \alpha K^2 \exp\left(-2 \int v(x) dx\right) q^{-3}.$$

Taking $K=1$ we have that the general solution of (3.3) can be expressed as (see [19]):

$$(3.4) \quad q(x) = \left(C_1 + C_2 \int e^{-\int v dx} dx + C_3 \left(\int e^{-\int v dx} dx \right)^2 \right)^{1/2},$$

where C_1, C_2, C_3 are arbitrary constants such that

$$(3.5) \quad C_1 C_3 = \beta + C_2^2/4.$$

Then we have

$$(3.6) \quad w(x) = \alpha e^{-2\int v dx} (C_1 + C_2 \int e^{-\int v dx} dx + C_3 \left(\int e^{-\int v dx} dx \right)^2)^{-(n+3)/2}.$$

Then equation (1.7) has the form:

$$(3.7) \quad \frac{d^2 z}{dt^2} + \alpha z^n + \beta z = 0,$$

and the general solution of the above is given by

$$(3.8) \quad \begin{cases} \int \int \left(C - \beta z^2 - \frac{2\alpha}{n+1} z^{n+1} \right)^{-1/2} dz = t + D & (n \neq -1) \\ \int (C - \beta z^2 - 2\alpha \log z)^{-1/2} dz = t + D & (n = -1) \end{cases}$$

(C, D are arbitrary constants).

Hence we can formulate the result:

Theorem 3. Equation (0.2) is integrable if function w has the form (3.10). In this case the general solution of (0.2) is $y(x) = q(x) z \left(\int p(x) dx \right)$, where z is given by (3.8), $p = \exp\left(-\int v(x) dx\right) q^{-2}$, q is given by (3.4) with (3.5).

Remarks. 1° Putting in (3.5) $C_1 = C_2 = 0, C_3 = 1$ we find $\beta = 0$ and (3.6) becomes (0.5).

2° If we take $C_2 = C_3 = 0, C_1 = 1$ we obtain $\beta = 0$ and (3.6) reduces to (0.4).

3° Let $C_1 = C_3 = 0, C_2 = 2$. Then $\beta = -1$ and (3.6) becomes:

$$w(x) = \alpha \exp\left(-2 \int v(x) dx\right) \left(2 \int \exp\left(-\int v(x) dx\right) dx \right)^{-(n+3)/2}$$

4° In the case $C_1 = \gamma^2, C_2 = 2\gamma, C_3 = 1, (\gamma = \text{const.})$ we have $\beta = 0$ and

$$w(x) = \alpha \exp\left(-2 \int v(x) dx\right) \left(\int \exp\left(-\int v(x) dx\right) dx + \gamma \right)^{-(n+3)}.$$

5° Now we consider the well known Emden-Fowler's equation (see, for example [7])

$$y'' + \frac{a}{x} y' + bx^{m-1} y^n = 0 \quad (m, n \in \mathbb{R}; a, b = \text{const.}; a \neq 1).$$

For $v(x) = a/x$ and $w(x) = bx^{m-1}$ from (3.6) it follows that the following condition must be satisfied:

$$bx^{m-1} = \alpha x^{-2a} \left(C_1 + \frac{C_2}{1-a} x^{1-a} + \frac{C_3}{(1-a)^2} x^{2-2a} \right)^{-(n+3)/2}.$$

This is possible only in the following three cases:

- (i) $C_2 = C_3 = 0$; $2a = 1 - m$; $C_1 = (\alpha/b)^{2/(n+3)}$;
- (ii) $C_1 = C_3 = 0$; $(n-1)(a-1) = 2m+2$; $C_2 = (1+a)(\alpha/b)^{2/(n+3)}$;
- (iii) $C_1 = C_2 = 0$; $(n+1)(a-1) = m+1$; $C_3 = (1-a)^2 (\alpha/b)^{2/(n+3)}$.

Conditions (i), (ii), (iii) are noted by L. M. Berkovič [7].

6° Applying a similar procedure to the equation

$$(3.9) \quad y'' + v(x) y' + \sum_{i=1}^k w_i(x) y^{n_i} = 0$$

($n_i \in \mathbb{R}$, $i = 1, \dots, k$; v, w_1, \dots, w_k are given functions), we obtain that, if

$$w_i(x) = \alpha_i e^{-2 \int v dx} \left(C_1 + C_2 \int e^{-\int v dx} dx + C_3 \left(\int e^{-\int v dx} dx \right)^2 \right)^{-(n_i+3)/2}.$$

($\alpha_i = \text{const.}$; C_1, C_2, C_3 are constants such that (3.5) holds), then equation (3.9) is integrable by quadratures.

4. Let us consider the generalized Emden's equation (3.3).

This equation is treated by a number of authors (see [7] — [12]). Various conditions, which ensure the integrability of this equation, in [7] — [12], are equivalent to (0.4) and (0.6) (see [7]). In this section we give a more general condition than (0.4) and (0.6).

From the theorem 2 it follows that the transformation (1.9) with $q(x) = 1$, reduces equation (0.3) to an equation of the form (1.5) if and only if

$$(4.1) \quad v(x) = pf(y-r) - \frac{p'}{p}, \quad w(x) e^y = p^2 g(y-r) - r'' - r' v(x).$$

Then we have $f(z) = \text{const.}$, and if we take $f(z) = 0$, we obtain $p(x) = K \exp\left(-\int v(x) dx\right)$ ($K = \text{const.} \neq 0$). Furthermore, from the second equality in (4.1) we find

$$(4.2) \quad g(z) = \alpha e^z + \beta \quad (\alpha, \beta = \text{const.}, \alpha \neq 0).$$

This implies that $w(x) e^y = \alpha p^2 e^{-r} e^y - r'' - r' v(x) + \beta p^2$, i.e.,

$$(4.3) \quad w(x) = \alpha p^2 e^{-r} = \alpha K^2 e^{-r-2\int v dx}, \quad r'' + v(x) r' = \beta K^2 e^{-2\int v dx}.$$

Taking $K=1$, we obtain that the general solution of equation (4.3) is given by:

$$(4.4) \quad r(x) = C_1 + C_2 \int e^{-\int v dx} dx + \frac{\beta}{2} \left(\int e^{-\int v dx} dx \right)^2$$

and

$$(4.5) \quad w(x) = \alpha \exp \left(-2 \int v(x) dx - C_1 - C_2 \int e^{-\int v dx} dx - \frac{\beta}{2} \left(\int e^{-\int v dx} dx \right)^2 \right).$$

Then equation (1.5) becomes:

$$(4.6) \quad \frac{d^2 z}{dt^2} + \alpha e^z + \beta = 0,$$

which has the general solution:

$$(4.7) \quad \int (2\alpha e^z + 2\beta z + C)^{-1/2} dz = t + D$$

(C, D are arbitrary constants).

Now, we can formulate the following theorem

Theorem 4. Equation (0.3) is integrable by quadratures if the function w has the form (4.5). The general solution of this equation is then given by $y(x) = z \left(\int p(x) dx \right) + r(x)$, where z is given by (4.7), $p = \exp \left(-\int v(x) dx \right)$, r is defined by (4.4).

Remarks. 1° Let $\beta = 0$, $C_1 = 0$, $C_2 = -1$. Then (4.5) reduces to (0.6).

2° Putting $\beta = C_1 = C_2 = 0$, (4.5) becomes (0.4).

3° In the case $C_1 = C_2 = 0$, $\beta = -2$, from (4.5) we have

$$w(x) = \alpha \exp \left(-2 \int v(x) dx + \left(\int \exp \left(-\int v(x) dx \right) dx \right)^2 \right).$$

4° For the equation:

$$(4.8) \quad y'' + v(x) y' + \sum_{i=1}^k w_i(x) e^{a_i y} = 0$$

($a_1, \dots, a_k \in \mathbf{R}$; v, w_1, \dots, w_k are given functions), we can obtain the following conditions which ensure its integrability:

$$w_i(x) = \alpha_i \exp \left(-2 \int v(x) dx - a_i r(x) \right) \quad (i = 1, \dots, k),$$

where r is given by (4.4).

5° Equation

$$y'' + v(x)y' + w_1(x)chy + w_2(x)shy = 0,$$

is a special case of (4.8). If $w_1(x) = \exp(-2 \int v(x) dx) (A_1 e^{-r(x)} + A_2 e^{r(x)})$
 $w_2(x) = \exp(-2 \int v(x) dx) (A_1 e^{r(x)} + A_2 e^{-r(x)})$, ($A_1, A_2 = \text{const.}$, r is given by (4.9))
 then the above equation is integrable.

6° Similarly we can consider the following equation:

$$y'' + v(x)y' + w_1(x)\cos y + w_2(x)\sin y = 0,$$

which is integrable, if $w_1(x) = \exp(-2 \int v(x) dx) (A_1 \cos r(x) - A_2 \sin r(x))$, $w_2(x) =$
 $= \exp(-2 \int v(x) dx) (A_1 \sin r(x) + A_2 \cos r(x))$, where A_1, A_2 are constants and r
 is given by (4.4).

5. Let us consider the equation (0.7). After the substitution $Y(x) =$
 $= y(x) \exp(-\frac{1}{2} \int \Phi(x) dx)$, where Φ is a solution of Riccati's differential
 equation

$$(5.1) \quad \Phi' + \frac{1}{2} \Phi^2 + 2v(x) = 0,$$

(0.7) reduces to generalized Emden's equation:

$$(5.2) \quad Y'' \Phi(x) Y' + \psi(x) Y^n = 0.$$

Function Ψ is given by

$$(5.3) \quad \Psi(x) = w(x) \exp\left(\frac{n-1}{2} \int \Phi(x) dx\right).$$

In section 3 a sufficient condition for integrability of generalized Emden's equation is given. Using this condition and (5.3) we find that equation (0.7) is integrable if

$$w(x) = \alpha \left(e^{-\int \Phi dx} \left(C_1 + C_2 \int e^{-\int \Phi dx} dx + C_3 \left(\int e^{-\int \Phi dx} dx \right)^2 \right)^{-(n+3)/2}, \right.$$

where α, C_1, C_2, C_3 are constants such that (3.5) holds.

The general solution of (0.7) is given by $y(x) = Y(x) \exp\left(\frac{1}{2} \int \Phi(x) dx\right)$,

where Y is the general solution of (5.1) (see section 3).

Remark. 1° In [17] L. M. Berkovič and N. H. Rozov proved the following result for the equation (0.7):

Equation (0.7) is integrable in quadratures if function w has the form $w(x) = \alpha s(x)^{-(n+3)}$, where s is a solution of Pinney's equation (see [18], [19])

$$s'' + v(x)s = \beta s^{-3}.$$

It can be shown that the above result and our are equivalent.

2° If we take $C_1 = C_3 = 0, C_2 = 1$ we obtain the result of J. L. Reid from [18].

REFERENCES

- [1] E. Kamke: *Differentialgleichungen: Lösungsmethoden und Lösungen*. Leipzig 1959.
- [2] P. Painlevé: *Sur les équations différentielles du second ordre et d'ordre supérieur dont l'intégrale est uniforme*, Acta Math. 25 (1902), 1—85.
- [3] J. D. Kečkić: *Additions to Kamke's treatise, V: A remark on the generalized Emden's equation*. Univ. Beograd Publ. Elektrotehn. Fak. Ser. Mat. Fiz. № 498 — № 541 (1975), 39—40.
- [4] J. D. Kečkić: *Additions to Kamke's treatise, VIII: Variation of parameters for nonlinear second order differential equations*, *ibid.* № 544 — № 576 (1976), 31—36.
- [5] D. S. Mitrinović and J. D. Kečkić: *Compléments au traité de Kamke, XIV. Applications of the variation of parameters method to nonlinear second order differential equations*, *ibid.* № 544 — № 576 (1976), 3—7.
- [6] D. S. Mitrinović: *Sur l'équation différentielle d'Emden généralisée*. C. r. Acad. Sci. Paris. 241 (1955) 724—726.
- [7] Л. М. Беркович: *Об уравнении Фаулера-Эмдена и некоторых его обобщениях*. Univ. Beograd. Publ. Elektrotehn. Fak. Ser. Math. Fiz. № 381 — № 409 (1972). 51—62.
- [8] I. Bandić: *Sur le critère d'intégrabilité d'une classe d'équations différentielles non-linéaires du deuxième ordre qui apparaît dans la physique théorique*. Bull. cl. sci. Acad. roy. Belg. 50 (1964), 275—286.
- [9] I. Bandić: *Sur une classe d'équations différentielles non-linéaires du deuxième ordre que l'on rencontre en Physique théorique*, *ibid.* 54 (1968), 28—32.
- [10] I. Bandić: *Sur l'intégration de deux équations différentielles importantes non-linéaires de deuxième ordre*, *ibid.* 44 (1958), 702—707.
- [11] I. Bandić: *Sur quelques équations différentielles non-linéaires du deuxième ordre qui apparaissent en Physique théorique*. C. r. Acad. Sci. Paris. 268 (1969), 387—390.
- [12] I. Bandić: *Sur l'invariant d'une équation différentielle non-linéaire du second ordre*. Glasnik mat. fiz. i astronom. (2) 16 (1961), 161—165.
- [13] Л. М. Беркович: *Об одном классе неавтономных нелинейных дифференциальных уравнений n -го порядка*. Arch. math. (Brno), (1971), 7—13.
- [14] Л. М. Беркович: *Преобразования обыкновенных нелинейных дифференциальных уравнений*. Дифф. уравнения. 7 (1971), 353—356.
- [15] Л. М. Беркович, Н. Х. Розов: *Приведение к автономному виду некоторых нелинейных дифференциальных уравнений 2-го порядка*. Arch. math. (Brno), 8 (1972) 219—226.
- [16] Л. М. Беркович, Н. Х. Розов: *Некоторые замечания о дифференциальных уравнениях вида $y'' + p(x)y = q(x)y^m$* . Дифф. уравнения. 8 (1972) 2076—2079.
- [17] J. L. Reid: *An exact solution of the nonlinear differential equation $y + p(t) = q_m(t)y/y^{2m-1}$* . Proc. Amer. Math. Soc. 27 (1971), 61—62.
- [18] E. Pinney: *The nonlinear differential equation $y'' + p(x)y + cy^{-3} = 0$* . *ibid.* 1 (1950), 681.
- [19] J. D. Kečkić and V. Lj. Kocić: *Second order nonlinear differential equations equivalent to linear equations*. Publ. inst. Math. Beograd. 24 (38), (1978), 99—101.